SBI Clerk Exam Reasoning Ability Model Paper


81.How many meaningful three letter English words can be formed with the letters “ADM” using each letter oniy once in each word?
1) None 2) One 3) Two 4) Three 5) Four

82.Each Vowel of the word “MARRIAGE” is substituted with the next letter ofthe English Alphabetical series, and each Consonant is substituted with the letter preceding it. how many Vowels are there in the new arrangement.
1) None 2) One 3) Two 4) Three 5) Four

83. ln a certain code “Leo Dak Ba” means “He is good” “Dak Ba Ga Sek” means “l-le is your sister” and “Gab Ga Dar” means 5 “Brother and Sister”. What is code of “Sister.”
1) Dak 2) Ba 3) Ga 4) Con‘t say 5) None =

84. lf the digits in the number “68415392″ are arranged in ascending order, what will be the 6TH number in new arrangement?
1) Five 2) Six 3) Four 4) Two 5) None

85. If it is possible to make only one meaningful Word with the third, fourth,seventh, eighth,letters of the word ‘INDEPENDENCE” which of the following would be the last letter of that word? if no such word can be made, give ‘X’ as your answer and if more than one such word can be formed, give your answeras y
1)I 2)D 3)X 4)Y *5)A

86.In a certain code “MOON” is written as “SEND” How is “SEND” wrilen in that code?
1) VQBA 2) VBQA 3) VAQB 4) BQAV 5) None of these

87. In a certain code language “GATE” is coded as “6$2#” and HIRE is coded as 8*?# then how will “HATE” be coded in that language?
1) ?$2# 2) $?2# 3) ?$#2 4) 2?#$ 5) None

88) Four of following five are alike in a certain way and so form a group which is the one that does not belong to that group? Q
1) Car 2) Steering 3) Door
4) Seat 5) Tyre

89. It two is called four, four is called tive, five is called two. Four is called seven and seven is called eighth, what is the sum ot two and four?
1) Five 2) Seven 3) Nine 4) Four 5) None

90. How many such pair of letters are there in word “MARRIAGE” which have as many letters between them as they have between A them in the alphabet?
t)Two 2) Four 3) Three 4) Nill 5) None

Directions (Q.91-95): In each of the questions below are given three statements followed by two conclusions numbered 1 and 2. You have to take the given statements to be true even it they seem to be at variance from commonly known facts. read both of 5 the conclusion and then decide which of the given conclusions logically follows from the 2 given statements disregarding commonly known facts. Read the statements and the conclusions which follow it and-

Give answer (1) if only conclusion 1 is true
Give answer (2) if only conclusion 2 is true
Give answer (3) if either conclusion 1 or 2 is true
Give answer (4) if neither conclusion 1 nor 2 is true
Give answer (5) ii both conclusions 1 and 2 are true.

91.Statements :
All dogs are cates
some cats are pigs
All Pigs are goats
Conclusion:
1.Some gosts are dogs
2.No dog is goat

92.Statements
Some bananas are guavas
Some guavas are mangos
Conclusions: 1. Some mangos are bananas
2. Soma bananas are apples
93. Statements:
All cars are
doorsSoma doors are seats
All seats are tyres
Conclusions: 1. Soma tyres are doors
2. Soma doors are cars

94. Statements:
All birds are animals
All animals are goats
All goats are cats
Conclusions: 1. All animals are cats
2. All goats are birds

95. Statements: Some pens are pencils Some pencils are sketches
All sketches are erasers
Conclusions: 1. Some sketches are pens .
2. No eraser is pencil

Directions (Q96-100): Study the sets of numbers given below and answer the questions. Which follow:
378 482 596 789 670

96. If in each number, all the three digits were arranged in ascending order, which of the following will be the lowest number
1) 378 2) 482 3) 596 4) 789 5) 670

97. lf four is subtracted from each of the numbers which ofthe following numbers will be the difference between the second digit of second highest number and the second digit of the highest number?
1) Zero 2) Two 3) Three 4) One 5) None

98. lf in each number the first and the third numbers are lnterchanged. Which will be the third highest numbers
1) 378 2) 482 3) 596 4) 789 5) 670

99. Which of the following numbers will be obtained if the first digit of lowest number is subtracted from the second digit of highest number after adding two to each ofthe numbers? `
1) 5 2) 4 3) 2 4) 1 5) 6

100. lf in each number the first and the second digits are interchanged, which will be the fourth highest number?
1) 378 2) 482 3) 596 4) 789 5) 670

Directions (Q.101-105): Read the following information carefully and answer the questions, which follow:.
P — 0 Means P is daughter of Q
P + 0 Means P is wife of Q
P + Q Means P is father of Q
P*Q Means P is son of Q

101. In the expression ‘A * B – C’ how is a
related to C’?
1) Sister 2) Father 3) Grandfather
4) Grandson 5) None of these

102. Which of the following means C is ‘son—ln-Law’ of A ‘?
1)A+BxC 2)A+B*C
3)A+B+C 4)A+B+C 5)None

103. ln the expression ‘A — B + C’ how C related to ‘A’
1) Mother 2) Father 3) Brother
4) Can’t say 5) None

104. l-low is A related to C in the expression A X B + C
1) Brother 2) Wife 3) Son 4) Sister
5) None of these

105. l-low is C related to A in the expression “A + B + C”
1) Son 2) Daughter _
3) Daughter-in-law 4) Sister 5) Not

Directions (0.106-110): Study the following information carefully to the answer these questions.
K, L, M, N, O, P, 0 and Ft are sitting around a circle facing at the centre. P is third to the right of L who is third to the right of ‘R’. K is third to the Let o ‘R’ M is fourth to the left of K. O is third to the right of ‘N’ who is not a neighbour of ‘K’.

106. in which of the following pairs the first person is to the immediate right ol the second person? .
1) OL 2) KP 3) KO 4) PN 5) None
107. Who is third to the right of ‘N’
1) O 2) O 3) M 4) K 5) None
108. Who is fourth to the left of ‘M’
t)K 2)P 3)O 4)L 5)None

109. Who is second tothe right of ‘L’?
1)M 2)N 3)K 4)Q 5) None

110. What is ’O‘s position with respect to ‘P’
A) Fourth to the right B) Fourth to the Left
C) Fifth tothe Left D) Fifth to the right
1) Only A 2) Only B 3) OnIyA and B
4) Only C and D 5) None of these

Answers:
81)2 82)1 83)3 84)2 85)3 86)2 87)1 88)1 89)3 90)3 91)3 92)2 93)5 94)1 95)4 96)5 97)2 98)3 99)5 100)4 101)4 1O2)4 1O3)2 1O4)1 105)5 106)3 107)2 108)1 1O9)3 110)3 111)1 112)4 113)2 114)5 115)5 116)3 117)2 118)4 119)2 120)4

